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(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 30 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 30 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
        All questions are compulsory.    
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 (ii) iz'u la[;k 1 ls 23 rd cgqfodYih; iz'u gSaA fn, x, pkj fodYiksa esa ls ,d lgh ,d lgh ,d lgh ,d lgh mÙkj pqfu,A 
iz'u la[;k 24 ls 30 rd oLrqfu"B iz'u gSaA izR;sd dk mÙkj ,d,d,d,d ;k nksnksnksnks 'kCnksa'kCnksa'kCnksa'kCnksa ;k okD;ksaokD;ksaokD;ksaokD;ksa esa 
nhft,A izR;sd iz'u 1 vad dk gSA lghlghlghlgh mÙkj viuh mÙkj&iqfLrdk esa fyf[k,A 

  Question Nos. 1 to 23 are multiple choice type questions. Choose the one 

correct answer from given four options. Question Nos. 24 to 30 are objective 

type questions. The answer of each question may be given in one or two 

words or sentences. Each question carries 1 mark. Write correct answer in 

your answer-book. 

1. fuEufyf[kr esa ls dkSu&lk ,d ekuo Hkwxksy dk mikxe ughaughaughaugha  gS \ 1 

(A) {ks=h; fofHkUurk (B) ek=kRed ØkfUr  
(C) LFkkfud laxBu (D) vUos"k.k vkSj o.kZu 
Which one of the following is not an approach in Human Geography ? 

(A) Areal differentiation (B) Quantitative revolution 

(C) Spatial organisation (D) Exploration & description 

2. euksfoKku ekuo Hkwxksy dh fdl mi'kk[kk ls lacaf/kr gS \ 1 

(A) lkekftd Hkwxksy (B) uxjh; Hkwxksy 
(C) vkfFkZd Hkwxksy (D) tula[;k Hkwxksy 
To which field of Human Geography does Psychology belong ? 

(A) Social Geography (B) Urban Geography 

(C) Economic Geography (D) Population Geography 

3. fo'o ds nl lokZf/kd tula[;k okys ns'kksa esa fo'o tula[;k dk fdrus izfr'kr Hkkx gS \ 1 

(A) 50%  (B) 60% 
(C) 70%  (D) 80% 
The ten most populated countries have World Population : 

(A) 50%  (B) 60% 
(C) 70%  (D) 80% 

4. fo'o esa lokZf/kd tula[;k okyk ns'k dkSu&lk gS \ 1 

(A) Hkkjr  (B) :l 
(C) phu   (D) teZuh 
Which is the most Populated Country ? 

(A) India (B) Russia 

(C) China (D) Germany 
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5. fdl egk}hi esa fyaxkuqikr de gS \ 1 

(A) ;wjksi  (B) vkWLVªsfy;k 

(C) mÙkjh vesfjdk  (D) ,f'k;k 

In which Continent, low sex ratio is found ? 

(A) Europe (B) Australia  

(C) North America (D) Asia 

6. ekuo fodkl dk dkSu&lk ewy fcUnq ughaughaughaugha  gS \ 1 

(A) lalk/kuksa rd igq¡p (B) mÙke LokLF; 

(C) f'k{kk   (D) m|ksx fodkl 

Which is not a key area of human development ? 

(A) Access to resources (B) Good health 

(C) Education (D) Industrial development 

7. dkSu&lk ns'k ekuo fodkl lwpdkad esa fo'o esa igys LFkku ij gS \ 1 

(A) vkWLVªsfy;k (B) dukMk 

(C) ukosZ   (D) teZuh 

Which country ranks first in world in Human Development Index ? 

(A) Australia (B) Canada  

(C) Norway (D) Germany 

8. fuEufyf[kr esa ls fdlus la;qDr vjc vehjkr ds fyax vuqikr dks fuEu fd;k gS \ 1 

(A) iq#"k dk;Z'khy tula[;k dk p;fur izokl  

(B) iq#"kksa dh mPp tUe nj 

(C) fL=;ksa dh fuEu tUe nj   

(D) fL=;ksa dk mPp mRizokl 
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Which one of the following has caused the sex ratio of United Arab Emirate to 

be low ? 

(A) Selective migration of male working population 

(B) High birth rates of males 

(C) Low birth rates of females 

(D) High out migration of females 

9. fuEufyf[kr esa ls fdl egk}hi esa tula[;k o`f) lokZf/kd gS \ 1 

(A) vÝhdk (B) ,f'k;k 

(C) nf{k.k vesfjdk  (D) mÙkj vesfjdk 

Which one of the following continents has the highest growth of population ? 

(A) Africa (B) Asia  

(C) South America (D) North America 

10. fuEufyf[kr esa ls dkSu&lk ,d HkkSxksfyd lwpuk dk òksr ughaughaughaugha  gS \ 1 

(A) ;kf=;ksa ds fooj.k (B) izkphu ekufp= 

(C) pUnzek ls pV~Vkuh inkFkksZa ds uewus   (D) izkphu egkdkO; 

Which one of the following is not a source of Geographical Information ? 

(A) Travellers accounts  

(B) Old maps 

(C) Samples of rock materials from the moon 

(D) Ancient epics 

11. fuEu esa ls dkSu&lh jksi.k Qly ughaughaughaugha  gS \ 1 

(A) dkWQh  (B) xUuk 
(C) xsgw¡  (D) jcM+ 
Which one of the following is not a plantation crop ? 

(A) Coffee (B) Sugarcane  

(C) Wheat (D) Rubber 
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12. fuEufyf[kr esa ls dkSu&lk fØ;kdyki prqFkZ lsDVj ls lEcfU/kr gS \ 1 

(A) lax.kd fofuekZ.k (B) fo'ofo|ky;h v/;;u 

(C) dkxt vkSj dPph yqxnh fuekZ.k  (D) iqLrdksa dk eqnz.k 

Which one of the following activities is related to quarternary sector ? 

(A) Manufacturing Computers (B) University Teaching 

(C) Paper and Raw Pulp Production (D) Printing Activities 

13. 2006 ds izkjEHk esa Hkkjr esa fdrus fefy;u flVh Fks \ 1 

(A) 40  (B) 41 

(C) 42   (D) 43 

How many of the following Cities in India have attained the million status at 

the beginning of 2006 ? 

(A) 40  (B) 41 

(C) 42   (D) 43  

14. dkSu&lk cLrh izfr:i rVksa ds lkFk feyrk gS \ 1 

(A) vk;rkdkj (B) f=Hkqtkdkj 

(C) jSf[kd  (D) rkjs ds vkdkj 

Which settlement pattern is found along coasts ? 

(A) Rectangular (B) Triangular  

(C) Linear (D) Star like 

15. fo'o esa lokZf/kd tula[;k okyk uxj dkSu&lk gS \ 1 

(A) eSfDldks flVh (B) VksD;ks 

(C) yanu   (D) eqEcbZ 

Which town has the largest population in the World ? 

(A) Mexico City (B) Tokyo  

(C) London (D) Mumbai 
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16. Hkkjr ds fuEufyf[kr dsUnz'kkflr izns'kksa esa ls fdl ,d dh lk{kjrk nj mPpre gS \ 1 

(A) y{k}hi (B) neu vkSj nho 

(C) p.Mhx<+  (D) v.Meku vkSj fudksckj }hi 

Which one of the following Union Territories of India has the highest literacy 

rate ? 

(A) Lakshadweep (B) Daman and Diu  

(C) Chandigarh (D) Andaman and Nicobar Islands 

17. fuEufyf[kr esa ls dkSu&lk ,d lewg Hkkjr esa fo'kkyre Hkk"kkbZ lewg gS \ 1 

(A) phuh frCcrh (B) vkWfLVªd 

(C) Hkkjrh; vk;Z  (D) nzfoM+ 

Which one of the following is the largest language group of India ? 

(A) Sino Tibetan (B) Austric  

(C) Indo-Aryan (D) Dravidian 

18. ekuo fodkl lwpdkad esa Hkkjr ds fuEufyf[kr jkT;ksa ls fdl ,d dh dksfV mPpre gS \ 1 

(A) rfeyukMq (B) dsjy 

(C) iatkc  (D) gfj;k.kk 

Which one of the following States of India has the highest rank in the Human 

Development Index ? 

(A) Tamil Nadu (B) Kerala 

(C) Punjab (D) Haryana 

19. tyks<+ eSnkuksa esa fdl izdkj dh cfLr;k¡ feyrh gSa \ 1 

(A) xqfPNr  (B) v)Z&xqfPNr 

(C) iYyhÑr  (D) ifjf{kIr 

Which types of settlements are found in alluvial plains ? 

(A) Clustered (B) Semi Clustered  

(C) Hamleted (D) Dispersed 
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20. fuEufyf[kr esa ls uxjksa dk dkSu&lk oxZ vius inkuqØe ds vuqlkj Øec) gS \ 1 

(A) c`gr eqEcbZ] caxykSj] dksydkrk] psUubZ (B) fnYyh] c`gr eqEcbZ] psUubZ] dksydkrk 

(C) dksydkrk] c`gr eqEcbZ] psUubZ] fnYyh  (D) c`gr eqEcbZ] dksydkrk] fnYyh] psUubZ 
Which one of the following group of cities have been arranged in the sequence 

of their ranks ? 

(A) Greater Mumbai, Bengaluru, Kolkata, Chennai 

(B) Delhi, Greater Mumbai, Chennai, Kolkata 

(C) Kolkata, Greater Mumbai, Chennai, Delhi 

(D) Greater Mumbai, Kolkata, Delhi, Chennai 

21. fuEufyf[kr esa ls ty fdl izdkj dk lalk/ku gS \ 1 

(A) vtSo lalk/ku (B) tSo lalk/ku 
(C) vuohdj.kh; lalk/ku  (D) pØh; lalk/ku 
Which one of the following types describes water as a resource ? 

(A) Abiotic resource (B) Biotic resource  

(C) Non-renewable resource (D) Cyclic resource 

22. Hkkjr esa fo'o ds ty lalk/kuksa dk fdrus izfr'kr Hkkx gS \ 1 

(A) 1%  (B) 2% 
(C) 3%   (D) 4% 
What is the share of India in worlds water resources ? 

(A) 1%  (B) 2% 
(C) 3%   (D) 4% 

23. fuEufyf[kr esa ls fdl jkT; esa izeq[k rsy {ks= fLFkr gSa \ 1 

(A) vle  (B) jktLFkku 

(C) fcgkj   (D) rfeyukMq 
Which out of the following states has major oil fields ? 

(A) Assam (B) Rajasthan  

(C) Bihar (D) Tamil Nadu 
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24. ^nh fyfeV Vw xzksFk* iqLrd fdlus fy[kh \ 1 

Who wrote the book 'The Limit to Growth' ? 

25. Hkkjr ds fdl jkT; esa ckS) tula[;k vf/kd gS \ 1 

Which state has the highest number of Buddhists ? 

26. Hkkjr esa lcls vf/kd fyaxkuqikr fdl jkT; esa gS \ 1 

Which state has the highest sex ratio in India ? 

27. la;qDr jk"Vª us dc loZizFke ekuo fodkl izfrosnu izLrqr fd;k \ 1 

When did United Nations published its first Human Development Report ? 

28. mÙkj izns'k ds lcls cM+s egkuxj dk uke crkb,A 1 

Name the largest Metropolitan City of Uttar Pradesh. 

29. bfM;ksxzkWfQd 'kCn dk vFkZ D;k gS \ 1 

What does word Idiographic mean ? 

30. Hkkjr esa lokZf/kd uxjhÑr jkT; dkSu&lk gS \ 1 

Which is the most urbanized state of India ? 

S 


